4. f(x)=x -2 -x+3in[0, 1)
Sol. We have, f(x)=x" -2 -x+3in [0, 1]
Since, f(x) is a polynomial function it is continuous in [0, 1] and differentiable
in(0, 1)
Thus, conditions of mean v.alue theorem are satisfied.
Hence, there exists a real number ¢ € (0, 1) such that

o)=L O=1©

1-0 T
3c? —de o1 1=2=143]-[0+3]
1-0
32 -4c-1=-2
3t -4c+1=0

(3c=1)e-1)=0

c=%e(0,l)

Hence, the mean value theorem has been verified.
75. f(x)= sinx - sin 2x in [0, 7).
Sol. We have, f(x) = sin x - sin 2x in [0, 7]

We know that all trigonometric functions are continuous and differentiable in
their domain, given function is also continuous and differentiable
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So, conditions of mean value thedrem are satisfied.
Hence, there exists atleast one ¢ € (0, #) such that,

o S(®)= f(0)
Fa=att
. ; _ > . o
- OO sin 2z —sin 0 + sin
’ n-0
4 2cos2c—cosc=0
=e 2(2cos’c—1)-cosc=0
= 4cos’c-cosc-2=0
1+ /1432 1+433
= COSC= =
— .
c "=°°3"(l?;/3—3)e(0.ﬂ)

Hence, mean value theorem has been verified.



